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Yus— I
Part-A
(Geography)

|HY: 3 gue 15 e quTich: 56

wenferat & forv = Al —
GENERAL INSTRUCTION TO THE EXAMINEES:
1. Remeft gy 319w Uv o WX A Jifrardd: forg |

Candidate must write first his/her Roll No. on the question paper compulsorily.

2. ¥ U B AR B |

All the questions are compulasory.
3. AP U BT SR al Mg IR GRAHT 4§ & ford |
Write the answer to each question in the given answer book only.
4. R ool # dRe @vs € 99 9l & IR U A1 & ford |
For questions having more than one part the answers to those parts are to be written

together in continuity.






(@vs—3)
Section-A

70 1 1 A T sgipaia uwAl & 981 Reed &1 999 o~ SR gRaaer 7 fafeg |

Write the correct answer to the given multiple choice questions in the answer booklet

(1) Tafeeare @ FoaT e T A7 V2
(@) Yeord (@) Rrfther <ol (@) v A dudd (]) fasra—sl—a—eart

Who introduced the concept of neo-determinism?

(A) Ratzel (B) Griffith Taylor (C) Ellen C. Semple (D) Vidal de la Blache

(ii) ST @ UIGfad gfg & T B

g 2
@) STH-9g (@) STT—gG+3Mgar

@) TG-S IA™  (]) STH—HG+ JMIIRH—SIITH

The formula for natural growth of population is-

(A) Birth-Deaths
©)

(B) Birth-Deaths+ In migration

Birth-Deaths-out migration (D) Birth-Deaths + In migration-out migration

(iii) Fr=ferRad & 9 foa U™ &1 e W0 3 99 98— 1
(@) &\dr SUMTH () 3 SUNTH

() ST SUFTH  (]) IMERYT ATIIDBAT SURTH

Which of the following approaches is related to prof. Amartya Sen -

(A) Capability approach  (B) Income approach

(C) Welfare Approach (D) Basic Needs Approach

(iv) I sa enfeie fhamd &— Y
(a1) Ao HHEU—RY @) T

() TEARU—ETT (%) A HUBU—3AEE
The oldest known economic activities are-
(A) Gathering-Agriculture (B) Mining-Agriculture
(C) Pastoralism-mining (D) Gathering-Hunting
(v) T & PN U sreferaRe § SATed &1 @i JfdaTd BT 87

1,
(31) Ustrare @) fafra @) FEe () I W A8l

In which one of the following economies, production is individually owned?

(A) Capitalist (B) Mixed (C) Socialist (D) None



(vi) FefeiRad @ & uRagd &1 UBR T8l o— b
@) wsd (@) 9 (W) AT () arg
Which of the following is not a type of transport-
(A)Road  (B)Water (C) Mobile (D) Air
(vii) oot 18R fps <91 § Rerd 87 )
@) (@ wE @) Ra @) e
In which country is the Suez Canal located?

(A) Panama (B) Russia (C) India (D) Egypt

(viii) DIetdrar Tod fed T =R Rerd 87 )
@) el (@) e (%) e (<) mMeTa
Kolkata port is situated on which river?
(A)Hoogli (B)Rhine (C)Narmada (D) Godavari
(ix) B & AR WRd H ARl & Gy off— Y

(@1) 179 (@) 544 (|) 22 (<) 169

According to Grierson the number of languages in India was-
(A) 179 (B)544 (C)22 (D) 169
(x) fF=ferRaa & & walfere ST g9 arelt T 27 Y
@) fder (@) uf¥=H 9T (d) SR ge2 () o

Which of the following is the state with highest population density ?

(A) Bihar  (B) West Bengal (C) Uttar Pradesh (D) Kerala

(xi) "% BUHH BT FaeT fbd 5T I 8— 14
(31) ToReAT (@) e (9) 3 U<er (T) 3|
“Neeru-Meeru” program is related to which state-

(A) Rajasthan  (B)Punjab (C) Andhra Pradesh (D) Assam
(xii) TEAT &I B T oI > 7w SIfd ugfid &z Y2
@1 facell & M1 (@) facell & wAWT (9) foeell & Se@r (]) fioell 9 gen

Between which two cities is the Yamuna river most polluted-

(A) Delhi to Agra (B) Delhi to Prayag (C) Delhi to Etawah (D) Delhi to Patna

(xiii) SIS fHadT IRR® & ? b7



Whose ore is Bauxite ?
(A) Aluminium (B) Manganese (C)Mica (D) Copper
(xiv) 9RT ¥ YT ¥aT BT Y/ Ha gg AI? )
(a1) 1853 @) 1857 (|) 1911 () 1923

When was the railway service started in India?

(A) 1853 (B)1857 (C) 1911 (D) 1923
(xv) FrfoIRed § | BI—41 U J—3MEg I o— s
(ar) wfeea @) 99 (@) == (<) faememre™
Which one of the following is a land —locked harbour-
(A) Haldia (B)Mumbai  (C) Chennai (D) Vishakhapatnam
(xvi) Fre=ferRad & 9 PI9—1 37T 991 T U HIRUT &— Y

(31) Sfet gguor (@) 4 gguor (@) AR yguU (<) drg Uguor

Which one of the following is a cause of acid rain-

(A) Water Pollution (B) Land Pollution (C) Noise Pollution (D) Air Pollution
50 2 R wE! &1 gt g |
Fill in the blanks.

() I Sz Aa fawr Fadie arel <2 9 € [SFH WR..... ¥ R T

Countries with very high human development index are those which have a score of over....

(i) Mf3a BY 4§ Baer IR Ta ... Sl BT AN He ST STl & |

(i) D ASH S QT ATST B TSU B FHEAT T |

Every road that joins two nodes is called a.........

(%) I # favq &1 FeHaH Yol dF YR S0 R

.................... has one of the most dense rail networks in the world.
(v) faea TR ST BT AT # Rerd 21

WTO headquarters are located in ...........................
(vi) TS ar AT B H R @ T B

The National youth policy has been launched in February.............
(vil) TRT H TRI BT GG o HTel A Il 2 |

Towns flourished since..................... Time in India.

(viii) AR BT IffEhaH TTAEIT BT TG AIST............ =

........ is a staple food for the overwhelming majority of population in India.

Y2

Y2

Y2

Y2

Y2

Y2

Y2



Indira Gandhi canal originates from.......... dam in Punjab.

3. 31 TTHRRIHS U
Very Short Answer Type Questions:

(i) “AFE IS AT GG 3R ERIAA @ 419 Aael B AN eddT 2 | AFa e Bl
g8 gRITYT foe <17 1

“Human geography is the synthetic study of relationship between human societies and earth's
Surface” Who gave this definition of human geography?

(i) ST gRadd & a1 gcdl & AW forfay | 1

Name two components of population change.

(iii) T far UfddesT 2020 & STIHR 9YRA BT HIA—AT WA 57 1
Which position of India according to the Human Development Report 2020?

(iv) fafsmfor @1 enfegd aref forRay | 1
Write the literal meaning of manufacturing.

(v) WTO &1 RT <14 TR | 1
Write the full name of WTO.

(vi) fava & STa1 Gl &1 fhas gfaerd 9T IR # 87 1
What percentage of the world's water resources is in India?

(vii) &af UgWOT & MY FAT FHSA 27 1

What do you understand by noise pollution?
Section-B
(@vs—9)

TYRIHD YR :

Short answer Type Questions:

Y04 HEG PIA S &F & A garsy | 1%

Name the fields of human geography.
U05 3MUS AR Udh [AdHRad I & oy SHifhd i FhavT Rigid &1 SUART qarsy | 1%

According to you, explain the use of demographic transition theory for a developed nation.

U06 “HREM B FT 57 1%
What is factory farming?

907 SEIA [HY B ©7 1%
What is outsourcing?

[08 R UTH ¥ Y RIT FHSI © 7 1%
What do you understand by naval port?

H09 SR i BT URHING SIS | 1%

Define population growth.



9010

J011

e R e @ Sew 918U |

Explain the objectives of Smart Cities mission.

@ Ty aRareHT R feweft foaRay |

Write a short note on the golden quadrilateral project.

1%

Y012 IAGIEl & 97 9Rd & JMATT—FHST & dgold UTeT bl G H 9SS |
Briefly explain the changing pattern of India’s import composition after independence.
9013 Scl UGHUT & UHE WAl &1 quiF BT |
Describe the major sources of water pollution.
Section-C
(gvs—a)
e S ueE—

Long Answer Type Questions:-

g014 f=feRad IRHFETEINR Ya™r R fewol) foRau—

(31) IR—ATIRTT X T (§) TR—DASTT NTHI T
Werite a note on the following transcontinental railway routes-

(A) Trans-siberian railways (B) Trans-Canadian railways

Ferar (OR)

frfeTRad gl aml ur fewel ferRay—

(31) SR eedified  (9) YA AR—{EHSNRY

Write a note on the following sea route-

(A) The Northern Atlantic ~ (B) The Mediterranean-Indian Ocean

Y015 YR H $Holl & WRERNT Sl bl 9o S |

Describe the conventional sources of energy in India.

FUAI(OR)

RA § $Holl & JURURNTT Sl BT guid BIoTT |
Describe the non-conventional sources of energy in India.

Y016 T & I BTRIHH BT TS YT a9 & SURT G |

Suggest ways to make the hill area development program more effective.

JAT(OR)

(1% + 1% =3)

SR TRA TR FHis e # Jad el e @1 gerar o @ oy Surg gel |

Suggest the measures of promotion of sustainability in Indira Gandhi Canal command

arca.



Section-D

(@rs—)

g ue —
Essay Type Questions:-
F017 TN BT IARAMT BT THIIIT B dTel BRI BT GBIV BINTY | (PTS TR)  (1+1+1+1=4)

Classify the factors influencing the location of industries. (Any Four)

3JRTET(OR)
Hed ATl R IR S BT I BRI HITOTT |

Classify the industries based on raw materials.

90 18 WRA H FHfY & fdHd &1 quiF B |

Describe the development of agriculture in India?

JUET(OR)

R ¥ e waal R Iwga o iR |

Write a detailed article on oilseed crops in India.

90 19 AU Y fIvg & Y@—asres H FrfeiRad arforsy Uy ured dTel TSl &1 3ifda

PIRTI— (4 X%=2)
(@) =piidie @) smeferar (W) aroferr () MRar

Mark the following commercial livestock rearing countries on the given outline map of the

world-
(A)New zealand (B) Australia (C) Argentina (D) America

70 20 faT U 9RT & NG—AFRF H fFEfoRad iR gars o+l &l ifed dIfsTu—
(4 X%=2)

() foeeht @) seeTae (@) dTqE (<) Plerdr
Mark the following international airports on the given outline map of India-
(A)Delhi (B) Ahmedabad (C) Bengaluru (D) Kolkata






